Mathematics Group
The Mathematics group asserts:
Any person who looks at past events can call him/herself an historian. Why is anybody who engages in mathematical inquiry, at any level, afraid to call him/herself a mathematician? Are not both pursuits of equal standing?
All sessions will be conducted as group participation in a workshop environment.

Individuals may wish to lead sessions on given specialisms, for example:
· Physics and accompanying practical investigations
· Ψ or Φ (phi) and the Fibonacci sequence and its significance in the natural and cultural world.
· [bookmark: _GoBack]Complex numbers and imaginary numbers.
· First principles leading to application of calculus.
· Cultural and historical developments of mathematics
· Music as mathematics.

Next meeting: The Maritime Inn Tuesday 9th January 2017 and on the 1st Tuesday of every month thereafter.
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Pyrgic puzzles

The duel of wits between Talking Turkey and Attila the Hen takes place on the
banks of the Zagyvariver...

1 Attila the Hen is twice as old as Talking Turkey was when Attila the Hen was as
old as Talking Turkey is now. Their combined ages are 84. How old are they each
now? [All ages in whole numbers, please...]

2 Ifa hen and a halflay an egg and a half in a day and a half, how many eggs will 3
hens lay in a week? What is the smallest whole number of hens you need to
ensure a whole number of dozens will be produced in a week?

3 Ifa clock strikes N bongs at N o'clock where N is, of course, a whole number,
then a 12-hour clock will strike a total of 156 bongs in the course of a single 24-
hour day. How many bongs will a 24-hour clock strike in the course of a 24-hour
day?

4 What did the teddy bear say when offered more cake after bableves, goulash,
duck liver and dobos torta?

5 What are the missing three digits?
1*14191819%919*5

6 The combination number to the lock on Csaba's caravan is a 14-digit number
consisting of two 7s separated by 7 digits, two 6s separated by 6 digits, two 5s
separated by 5 digits, all the way down to a pair of 1s with a single digit between.
1t has the form:

wx ) wEREERER O KX

Can you fill in the missing digits?
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- A: One triangle has two sides 13 and 15 centimetres.
~ Another triangle has two sides 8 and 10 centimetres,
but their areas are equal.

Given that the dimensions of the sides and areas of.
the triangles must all be in whole numbers, what is the
area of each triangle?

B: "Susan and Mike?" said Clem. “Well, it's funny
about their ages and yours." »
_ Eve shook her head. "Come on, I'm sixty and they're
just kids."

“But it is odd,” Clem insisted. "Their ages are the
digits of my age, and our three ages add up to yours."
How old was he?
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Pyréic puzzles

1 “Prestigious! Memorabilia! Substantial! You
underboiled eggs of miseducation!” raged
Pedanticus as he tried to throttle the radio as if
his philistine tormentors were actually within

its dinky little frame. To what sins and sole-
cisms might the irascible old bustard have been
alluding to? 2 Andy and Candy were talking
through their homework. The only question that
gave them pause was: “What do you get when
_Yyoudivide 7932546138820674538611 by
999999999997" Andy was for doing it by long
&.w@lon as his cheap calculator would only djs-
playad x digits. Candy has been taught to think for
herself (educationalists with their love of jargon
call it “mastery” nowadays) and thought up a
neat trick. Can you see what it was? 3 “Welcome
to the Last Chance saloon,” crows Moriarty, who

has tied up Tom and Bart Ender and taken over
the joint. He reveals a gambler’s dollar to Sher-
lock. The chances of it coming down heads are
144, tails 245. “If Rosencrantz here— he will work
for anyone— flips the coin repeatedly until two
‘consecutive results both give heads, what is the
expected number of flips? And in case you can
do that, Smartllocks what is it in the case of two
: v tails?” Well? 4 The Jaria
> diamond- cut into a Pla-
= tonically regular shape,
.. but not transparent=— is
* supposed to be visible in
-+ this design. Can you spot
it? Email your solution
to puzzle 3 to maslanka@easynet.co.uk— the
first correct answer from the hat next Thursday
morning will win a copy of Sherlock: The Puzzle
Book (by Chris Maslanka & Steve Tribe)





